[image: ]

PROJECT MANAGEMENT
Element 3 
Solutions to activities

Activity 1 solution

(a) To do this the project manager has first to determine the critical path and the planned duration of the project. The critical path runs through tasks: A B H I K which gives a planned duration of 11 weeks.

If the project is to complete on 25 Nov, the calendar can be used to work back 11 weeks from the date to determine the planned start date: Monday 12 September.

(b) All costs must be included (fixed and variable) for each task.

	Task
	Duration
	Fixed
	Variable
	Task cost
	Task
	Duration
	Fixed
	Variable
	Task cost

	A
	1
	
	3,000
	3,000
	F
	2
	35,000
	2,000
	39,000

	B
	2
	12,000
	4,000
	20,000
	G
	2
	20,000
	1,200
	22,400

	C
	2
	25,000
	4,000
	33,000
	H
	5
	
	2,500
	12,500

	D
	4
	20,000
	5,000
	40,000
	I
	2
	15,000
	3,000
	21,000

	E
	3
	
	6,500
	19,500
	J
	1
	9,000
	
	9,000

	
	
	
	
	
	K
	1
	
	2,400
	2,400

	
	
	
	Sub-total
	115,500
	
	
	
	Sub-total
	106,300



This equates to a total of $221,800. Plus $5,000 per week for the 11 weeks that the project is in progress ($55,000) = $276,800.



Activity 2 solution

(i)	Network diagram for the project:	
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(ii)	The Critical Path (longest way from start to finish) runs through Tasks is 
A – B – C – G – H – I

(iii)	Therefore the planned duration is 31 weeks (the sum of the durations of the Critical Path).

(iv) Analysis is as follows:	

	Task
	Duration (weeks)
	Fixed Cost ($)
	Variable cost per week ($)
	Total variable cost ($)
	Total costs ($)
	

	A
	2
	1,500
	
	0
	1,500
	

	B
	5
	4,000
	700
	3500
	7,500
	

	C
	2
	2,000
	
	0
	2,000
	

	D
	3
	3,000
	
	0
	3,000
	

	E
	7
	1,000
	800
	5600
	6,600
	

	F
	12
	
	500
	6000
	6,000
	

	G
	9
	4,500
	
	0
	4,500
	

	H
	6
	2,000
	
	0
	2,000
	

	I
	7
	
	1,200
	8400
	8,400
	

	
	
	
	
	Sub-total
	41,500
	

	
	
	
	
	Equipment
	15000
	

	
	
	
	
	Accommodation
	27900
	(31 x 900)

	
	
	
	
	Project Manager
	32000
	(8 x 4000)

	
	
	
	
	GRAND TOTAL
	$116,400
	


Activity 3 solution
Task 1
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Critical Path: A B C D E F G H. Planned duration 140 days = 28 weeks

Task 2

Fixed costs: $440,000
Plus 28 x $18,000 = $504,000
Total $ 944,000

Task 3
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Critical Path   A B D G H. Planned duration – 36 days = 7.2 weeks (5 days in a week)

Task 4

Fixed costs: $220,000
Plus 7.2 x $20,000 = $144,000
[bookmark: _GoBack]Total $ 364,000
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